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Al 4,200
09 SALAHIEA S 6,000 7,000 A 1,000
SENEgs 4T 2ANS
3,000& = 2,0004H 6,000
< 1,800
Al 4,200
e s 43 Helois 4,000 4,000 0
< 1,200
Al 2,800
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2N
X ZH -
L= B

el

SEXNZ
SENEzZ sZFHHY 3
SEMENA

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
301 et d = 4,000 4,000 0
< 1,200
Al 2,800
06 212tol=2l 04 Hl 4,000 4,000 0
O 0e s 232 A=
2,000,000& » 29H 4,000
< 1,200
Al 2,800
SHUSZMA HOIHH X 10,000 8,000 2,000
402 RI2EX 20| ™ 10,000 8,000 2,000
01 2I2F 2 A B (RERTH ) 10,000 8,000 2,000
O Malids OsSs Sctg dg88YgU 22
10,000,000& * 14 10,000
SEWL M)l sZAYEHXA 21,200 17,000 4,200
< 6,360
Al 14,840
402 RI2EXt20l ™ 21,200 17,000 4,200
< 6,360
Al 14,840
02 21t 2 AL EZ (OIS ) 21,200 0 21,200
0 s&04d Adls s&Y Zdl XA
21,200,000& * 1JH3l 21,200
< 6,360
Al 14,840
JASE YL stitsUa 70,000 0 70,000
307 21201 A 70,000 0 70,000
04 QIZFHALAIR B = 70,000 0 70,000
O 2= MEided stitSHEl
70,000,000 = 14l 70,000
TR sMSISHEE =4 70,000 0 70,000
< 21,000
Al 49,000
402 RI2EXt20l ™ 70,000 0 70,000
< 21,000
Al 49,000
02 RIZEXt 2 AL EZ (OIS ) 70,000 0 70,000
O Esus sttSlts HEgd =4
100,000,000& * 1JH2 = 70/100 70,000
< 21,000
Al 49,000
o JISEY SEHELAY 35,000 0 35,000
< 10,500
Al 24,500
402 RIZEX20l A 35,000 0 35,000
< 10,500
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N sEXNZD
BN sENER SUAMAAS
ool SEMBINM (S5 &)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
Al 24,500
02 U EALEZ(0IETHR) 35,000 0 35,000
0 S0 HZHY SRHY MY
50,000,000& * 1JHz = 70/100 35,000
= 10,500
Al 24,500
HH2IZH (sEXNZ D) 662,207 598,005 64,202
el 2 gl 589,917 525,715 64,202
lHARIH(sEXE ) 589,917 525,715 64,202
101 @14 Hl 589,917 525,715 64,202
01 2= 110,160 105,840 4,320
0 23294g 110, 160
O Nztol2esy
10,2003 = 20 = 45A12t = 128 110,160
03 RIAHAZ2 B = 479,757 419,875 59,882
O sJIH =2l& 22 414,135
O Jles 73,8003 * 99 « 252¢ 167,379
O o0z 167,379,000& * 4/12 55,793
O =5+ 73,8003 * 9%  52¢ 34,539
O Nztol2esy
13,8403 = 9H = 30AI2t = 128 44,842
O 5d=+¢ 110,700& * 9% » 60 59,778
O gx=g 73,8003 * 9% » 20 13,284
O Fdg A 100,000& » 99 « 12E 10,800
O neE:2xl 100,000& = 9H « 123 10,800
O fIg=% 30,000& = 9% « 12& 3,240
O ZE S0 500,000& = 9H =« 23| 9,000
O 1=l 80,000& = 9 * 2% * 23| 2,880
O o+ st 100,000& » 9H =« 23| 1,800
O =&l 7,000& * 9% « 150 9,450
04028 56,172
O A2z 23
423,585,000 * 3.06/100 12,962
O L3I RRLBEZ 2H3
12,962,000 * 6.55/100 850
O =ugzagez 2o
423,585,000& * 4.50/100 19,062
O 182z 23
423,585,000& * 1.50/100 6,354
O ez 23
423,585,000 * 4.00/100 16,944
Jl23l 72,290 72,290 0
gl (s&EX T ) 72,290 72,290 0
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N sEXNZD
M HER2GFU(sEXNT )
chelr D123l
SA - ZE-B(EA) - NRAY - B S il &t o il
2 et | 66,890 66,890
AtS 2t el i 36,540 36,540
[0 2Bt=2Hl 21,840
O SAE8X & 30,0003 » 10A « 123 3,600
O 2%E g g 15,0002 * 35 * 20% 900
HEMNERES
20,000& = 15& = 103/ 3,000
O ®J Aye P2
15,000& = 28 « 12& 360
O¥2 2 DYX 7S2
20,0003 = 38 » 12& 720
O g2 20N S 32 A7 72
10,0002 *» 1008 1,000
O 52 ¢ NEX U P=S(sEXT D,
agA) 12,000& = 158 = 12& 2,160
O HEAMRII 228 *4 10,100
WA EY £y 200,000& = 23| 400
SAMI EU =
250,000& = 504 = 23| 2,500
Telg Ed S
300,000& = 1208 = 23l 7,200
0O =&l 14,700
O =& & ¢ &
7,000& * 219 = 100 14,700
2222 30,350 30,350
03322 % HA 5,850
O s& N& & s REEI
300& = 5008 = 123l 1,800
O UHsXA % =3 1,610
=3 =N 800
- NS XAl 120,000& * 504 600
- AAs A HAZ 40,000& = 504 200
S 210
- At= XA 150,000& * 104 150
- AsA A= 60,0002 * 1CH 60
St= X 600
- XS XA 100,000 * 3CH 300
- XAsx 4 100,000& * 3CH 300
O S3MNERE 40,000 * 9CH = 23 720
O 0IEX(EE) 60,0002 * 3CH 180
O NS 3N g2 (FAH)
390,000& = 23| 780
O NS &&) g2(LHed)
5,000& * 23] » 4014 760
O AIE EHIR XY 2,000
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N sEXNZD
M HER2GFU(sEXNT )
chelr D123l
SA BB O () - MM - HES 0l &+ o4 il
O #HFAMRII sA2ell
200,000& « 10CH 2,000
O Xtg - ol 22,500
O =214 4 g2 (23U, ZHISX
g, A2 EHl) 22,500
SEX 2,200,000& = 5CH 11,000
S 2,500,000& =« 1CH 2,500
st= Xt 3,000,000& = 3CH 9,000
203 YR F=&H] 4,200 4,200
04 BENSSHRF=LHI 4,200 4,200
0O sEXNTsn 350,000& = 12& 4,200
204 X2 F Hl 1,200 1,200
01 HEZHRHFH 1,200 1,200
O ssN&E 100,000& * 123 1,200
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